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FELORE e s | ok |kw/E|CWEF| aw | oan | oo | BE
1 AR 1 1 1 1 10 15 25
2 pH 1 1 1 1 10 15 25
3 BEHE 1 1 1 1 10 30 40
4 AR AR 1 1 1 1 10 60 70
5 LHANESE 1 1 1 1 10 80 90
6 A 1 1 1 1 10 60 70
7 Bk 1 1 1 1 10 80 90
8 & 1 1 1 1 10 80 90
9 4 1 1 1 1 10 100 110
10 23 1 1 1 1 10 100 110
11 an 1 1 1 1 10 80 90
12 2 1 1 1 1 10 100 110
13 i 1 1 1 1 10 100 110
14 | ffraEdEER K 1 1 1 1 10 100 110
15 | AAEHRFIFR |4E 1 1 1 1 10 100 110
16 AN 1 1 1 1 10 80 90
17 4 1 1 1 1 10 100 110
18 a4 1 1 1 1 10 80 90
19 £ B 1 1 1 1 10 70 80
20 fimk 1 1 1 1 10 100 110
21 P& ¥ & maE it 1 1 1 1 10 70 80
22 B 1 1 1 1 10 80 90
23 KW A 1 1 1 1 10 80 90
24 B R £ 1 1 1 1 10 80 90
25 A 1 1 1 1 10 80 90
26 AE R £ 1 1 1 1 10 70 80
27 # 1 1 1 1 10 100 110
28 g 1 1 1 1 10 100 110
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1 KR 1 1 1 1 10 15 25
2 pH 1 1 1 1 10 15 25
3 BERE 1 1 1 1 10 30 40
4 5 4B Eh 38 4 1 1 1 1 10 60 70
5 hEFEE 1 1 1 1 10 80 90
6 LHANEEE 1 1 1 1 10 80 90
7 A 1 1 1 1 10 60 70
8 gk 1 1 1 1 10 80 90
9 BA 1 1 1 1 10 80 90
10 Ll 1 1 1 1 10 100 110
11 i 1 1 1 1 10 100 110
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14 . i 1 1 1 1 10 100 110
15 X 1 1 1 1 10 100 110
16 b 1 1 1 1 10 100 110
17 A 1 1 1 1 10 80 90
18 A 1 1 1 1 10 100 110
19 a4 1 1 1 1 10 80 90
20 E LB 1 1 1 1 10 70 80




21 RS 1 1 1 1 10 100 110
22 FAwFRE & 1 1 1 1 10 70 80
23 ki 1 1 1 1 10 80 90
24 E A ME#H 1 1 1 1 10 80 90
25 B 1 1 1 1 10 70 80  |Ami
26 nE 1 1 1 1 10 60 70 |Awi
1 nE 1 1 1 1 10 60 70
2 RA 1 1 1 1 10 80 90
3 e [ 1 1 1 1 10 80 90
y | R ERERE o 1 1 1 1 10 60 70
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5 RHER 3 1 1 1 1 10 70 80
6 5 A BR Hh 35 4 1 1 1 1 10 60 70
7 hEEFEAE 1 1 1 1 10 80 90
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1 &R 1 1 5 1 100 100 1000
2 —ata 1 1 5 1 100 100 1000
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